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a—FK i Ek PR (kg) &% (M) =l g i PE M1 €20)
Y3002 | =4 (441 2 1,523 1,296 324 324 | B 2kg
31200 |3 3 324 22 22 22 | B 153
31800 FHNAE 55 18,371 76 70 54 | BN 2767K
35220 | X QX 2 1, 804 1,188 1, 080 1,080 | &M 2kg
35303 | AF v TEIALED 50 15, 779 540 216 216 | A 50kg
| Y3033 | ZEHIAL 5 1, 080 1,296 1, 080 1,080 | B 17 —2
Y3033 | 2L 320 26, 244 162 108 32BN 320kg
38100 A LW /eiF 1 1,615 1,242 1,242 1,242 | B lkg
Y3030 \HIEA (3) 3 5,184 1,728 1,728 1,728 | B 3kg
L 46108 | IBEDONE 10 15, 044 497 497 432 | BN 39,8 7
21030 | F7&F 4,698 70 65 65| B 104
71032 | K 7&F (F) 4,158 76 76 76| B 554%
71040 E N 1,188 81 81 76 | B 1674
71150 LiE 540 54 54 54 | HH 103R
53456 1=/l 3 1,166 389 389 389 | BN 3kg
30100 |72V Z A L 320 4,709 54 12 12 |EIRE 3204
30100 722 A B 90 1, 944 216 216 216 | IR 9%
30200 25 5 1,728  1,728) 1,728 1,728 HEIRJ 1 —2
30200 75 6 324 11 11 11|FER 3074
130300 AZ 100 11,772 1,620 1,296 864 | I 10— 2R
| 30300 ,AE 51 7,582 76 65 65 | = IR 11448
30300 A% 2L 20 3, 456 1,728 1,728 1,728 | dbygE 24— R
31100 H¥ 315 13,014 864 594 594 | FEIR 21— A
31412 UHEE 864 22 22 22 |13 404%
33500 47 ¥ L 259 11 11 11 |f& 0 2448
33810 HEHE 2,376 59 59 59 | BEIRE 14058
32600 HH 216 11 11 11 | {& 204%
31700 | Xy 330 13, 500 648 324 324 | =I5 334 — R
31800 1EHNAE 2,592 2,592 2, 592 2,592 | B 1r—=
31800 HEH HLAEL 1,080 54 54 54 IR S 204%
131950 HAE 1,474 59 59 54 | = I 267
31950 HRE B L 12 3,240 864 864 648 | L IR B 44—
31900 AaX S 2,808 281 281 281 |FE B 103 (500g)
31930 ZhE 3,024 65 54 38 BV 60%4%
32800 125 2,133 65 59 59 | = I 353K
34300 e 2L 10 4,104 2,052 2, 052 2, 052 | HEAR 24— R
34400 k< b L 12 7,128 2,376 2, 376 2,376 | K%y 37—
34400 k< b S 40 12, 420 1, 404 1,188 1, 188 | REA 1047 — &
34460 I =& F L L 10 5, 184 108 108 108 | F % 48/%y 7
34460 I =L F L S 5 2,074 86 86 86 | REA 24,8 7
34100 | &K 55 15, 444 1,404 1, 404 1, 404 | "= 1% 117 —2A
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w4 = BR e AT#S 2H
a—Fk dih 4 ik | PERR (kg) %8 (M) Bl o i £l PE (BAL)
34100 #A/K 15 3,035 76 76 65 | = I 434%
34100 #JL B M 10 1,728 864 864 864 | & IF 24— R
34200 /I 10 1, 404 140 140 140 |EIR B 10kg
34500 E—~ 37 9, 407 43 36 22 | =R 2924%
34571 SFU B GR) 1 702 140 140 140 |85 5{
34572 (XU A () 1 756 151 151 151 | 8% 58
36200 B 2L 50 10, 800 2,160 2,160 2, 160 | by 54— R
37200 L X D 2L 4 1,836 1,836 1,836 1,836 | E 17 —2A
33400 L ¥ = 12 1, 750 76 76 70 | E % 1244
33420 ZU—rU—TLHR L 30 1,080 1,080 1, 080 1, 080 | & [ 17 —2A
32900 EAY— 1 270 270 270 270 | & 1A
33600 |3tV 1 32 11 11 11 | %% ¥ 348
33300 T HE v =Y — L 11 4,018 119 108 108 | R 361
38100 A LWz 5 5,076 1,080 972 972 | E 54—
38100 A LW oi) 14 10, 627 86 86 65 | = iR 1393y 7
31500 |/MAZE 4 1,296 1,296 1,296 1,296 | IR & 15—
31500 /A3 16 2,160 65 22 22| BIRE 8048
32500 | »o1E 2 683 54 54 24| K5y 163K
36340 & LR HLAE 15 5,508 1,836 1,836 1,836 |FEIRE RE
37560 BBIT 1 1, 836 324 216 108 | K% 1023w 2
38400 [ ZDEH 5 2,376 2,376 2, 376 2, 376 | R iR 1 —2
38521 | R LHUHE 3 4, 050 135 135 135 | t& 3048
40100 A A S 20 10, 152 5,076 5,076 5,076 |E R & 24— R
41480 | L 530 th 15 4, 860 1, 620 1, 620 1,620 |FEIR S 37—
42133 |2 F ) 2 A4 —k 10 2,160 1,080 1,080 1,080 | K% 25—
Y4023 Hdbsk 40 6,912 1,728 1,728 1,728 |F# 44— R
43420 | T - 7T 2 EL 10 1,728 864 864 864 | 1LT¥ 24— R
43610 | EH N X B 100 6, 286 864 605 594 | #& 104 — &
49100 SFF 132 22, 032 3, 996 1,728 1,728 7 4 U B 1147 —A
49300 F U 4 TNA— 10 5,832 2,916 2,916 756 | =2 —Y— 24 —2R
7K
ARt 2,446 353, 559




